ON THE SUBDIFFERENTIAL OF A NONLINEAR COMPLEMENTARITY PROBLEM FUNCTION WITH NONSMOOTH DATA

YAN GAO

ABSTRACT. In this paper, a system of nonsmooth equations reformulated from a nonlinear complementarity problem with nonsmooth data is studied. The formulas of some subdifferentials for related functions in this system of nonsmooth equations are developed. The present work can be applied to Newton methods for solving this kind of nonlinear complementarity problem.

AMS Mathematics Subject Classification: 90C30. 65H10 Key words and phrases: Nonlinear complementarity problem, nonsmooth analysis, optimization, Newton methods, subdifferential.

1. Introduction

Consider the nonlinear complementarity problem

$$F(x) \ge 0, x \ge 0, x^T F(x) = 0,$$
 (1)

where $F: \mathbb{R}^n \to \mathbb{R}^m$ is a given map. We denote $F(x) = (f_1(x), \dots, f_n(x))^T$, $x = (x_1, \dots, x_n)$. The complementarity problem (1) is to find a solution $x \in \mathbb{R}^n$, which satisfies (1). The Fischer-Burmeister nonlinear complementarity problem (for short NCP) function, see [2], is defined as the following:

$$\phi(a,b) = \sqrt{a^2 + b^2} - a - b.$$

By the NCP function ϕ , the nonlinear complementarity problem (1) can be reformulated as the following

$$\phi(x_i, f_i(x)) = 0, i = 1, \dots, n.$$
 (2)

Received September 28, 2007. Revised January 2, 2008. Accepted January 18, 2008.

This work was supported by National Science Foundation of China (under grant: 10671126), key project for fundamental research of STCSM(under grant: 06JC14057) and Shanghai leading discipline project(under grant: T0502).

^{© 2009} Korean SIGCAM and KSCAM.

336 Yan Gao

In other words, $x \in \mathbb{R}^n$ is a solution of (1) if and only if it is one of (2). Evidently, (2) is a system of nonsmooth equations even if each f_i is smooth.

Recently, Newton methods for a solution of nonsmooth equations are applied to solving the nonlinear complementarity problem. However, most work is related to the case that F is continuously differentiable, to our knowledge, only [3, 4, 7] dealt with the case that F is nonsmooth function. In the present paper, we try to consider the problem when F is locally Lipschitzian function. The formulas of subdifferentials for the functions in the left hand of (1) are investigated. By using these formulas, we can compute the B-differential or the Clarke generalized gradient of each $\phi(x_i, f_i(x))$. This work can be used in Newton methods for solving the nonsmooth equations (2).

Throughout the paper, e_i denotes the unit vector in \Re^n whose *i*-th component is 1, B(x,1) the unit ball with x as its center, D_H the set where function H is differentiable, x_i the *i*-th component of x, d_i *i*-th component of d.

2. Preliminaries

Let $H: \mathbb{R}^n \to \mathbb{R}^m$ be locally Lipschitzian. By the definition in [1, 6],

$$\partial_B H(x) = \{ \lim_{y \to x} JH(y) \mid x_n \to x, y \in D_H \}$$

is called the B-differential of H; $\partial_{Cl}H(x) = \mathrm{co}\partial_BH(x)$ is called the Clarke generalized Jacobian of F; when H is from \Re^n to \Re , $\partial_{Cl}H(x)$ is said to be the Clarke generalized gradient.

As in [6], the locally Lipschitzian function $H:\Re^n\to\Re^m$ is said to be semismooth at x if

$$Vh - H'(x; d) = o(||d||), \quad V \in \partial_{Cl} F(x+d).$$

Let us consider the nonsmooth equations:

$$H(z) = 0, (3)$$

where $H: \Re^n \to \Re^n$ is locally Lipschitzian. Newton method for solving the nonsmooth equations (3) is given by

$$x^{k+1} = x^k - V_k^{-1} H(x^k), (4)$$

where V_k is an element of $\partial_B H(x^k)$, $\partial_{Cl} H(x^k)$, $\partial_{Cl} h_1(x^k) \times \cdots \times \partial_{Cl} h_n(x^k)$ or $\partial_B h_1(x^k) \times \cdots \times \partial_B h_n(x^k)$. The locally superlinear convergence of Newton methods were shown when F is semismooth and all elements of corresponding subdifferentials of H at the solution are nonsingular.

Fischer-Burmeister NCP function has properties as follows [2]:

- 1. $\phi(a,b) = 0 \iff a \ge 0, b \ge 0, ab = 0$;
- 2. the square of ϕ is continuously differentiable;
- 3. ϕ is twice continuously differentiable at every point except the origin, but it is strong semismooth at the origin.

If $a \neq 0$ or $b \neq 0$, then ϕ is continuously differentiable at $(a, b) \in \Re^2$ with

$$\nabla \phi(a,b) = (\frac{a}{\sqrt{a^2 + b^2}} - 1, \frac{b}{\sqrt{a^2 + b^2}} - 1)^T.$$
 (5)

The following proposition can be found in [5].

Proposition 1. Let $f, g: \mathbb{R}^n \to \mathbb{R}$ be directionally differentiable and let $G(x) = \phi(f(x), g(x))$. Then, G is directionally differentiable and its directional derivative is of the form:

$$G'(x;d) = \left(\frac{f(x)}{\sqrt{f^2(x) + g^2(x)}} - 1\right)f'(x;d) + \left(\frac{g(x)}{\sqrt{f^2(x) + g^2(x)}} - 1\right)g'(x;d)$$
$$if(f(x), g(x)) \neq 0;$$

$$G'(z;d) = \phi(f'(x;d), g'(x;d)) \ if(f(x), g(x)) = 0;$$

Moreover, if both f and g are differentiable at x, then

$$\nabla G(z) = \left(\frac{f(x)}{\sqrt{f^2(x) + g^2(x)}} - 1\right) \nabla f(x) + \left(\frac{g(x)}{\sqrt{f^2(x) + g^2(x)}} - 1\right) \nabla g(x)$$
$$if(f(x), g(x)) \neq 0.$$

3. The formulas of subdifferentials of related functions

To perform Newton method for solving the system of nonsmooth equations (5), an element of some subdifferential of the function in the left hand side of (5) is required at each interactive step. In this section, we proceed to investigate the structure of the B-differentials or the Clarke generalized for the functions:

$$G_i(x) = \phi(x_i, f_i(x)), i = 1, \dots, n.$$

By virtue Proposition 1, we have that

$$G'_{i}(x;d) = \left(\frac{x_{i}}{\sqrt{x_{i}^{2} + f_{i}^{2}(x)}} - 1\right)d_{i} + \left(\frac{f_{i}(x)}{\sqrt{x_{i}^{2} + f_{i}^{2}(x)}} - 1\right)f'_{i}(x;d)$$

$$if \ (x_{i}, f_{i}(x)) \neq 0;$$

$$G'_{i}(x;d) = \phi(d_{i}, f'_{i}(x;d)) \ if \ (x_{i}, f_{i}(x)) = 0.$$
(6)

If f_i is differentiable, then

$$\nabla G_i(x) = \left(\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right) e_i + \left(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right) \nabla f_i(x),$$

$$if (x_i, f_i(x)) \neq 0. \tag{7}$$

Lemma 1. Let $f_i: \Re^n \to \Re$ be locally Lipschitzian and directionally differentiable. If $x_i = 0$ and $f_i(x) > 0$, then G_i is differentiable at x with the gradient $\nabla G_i(x) = -e_i$.

Proof. Since $x_i = 0$ and $f_i(x) > 0$, by (6), we have $G'_i(x;d) = -e_i$. Therefore, $G'_i(x;\cdot)$ is linear function. This means that G_i is differentiable at x with the gradient $-e_i$.

338 Yan Gao

Lemma 2. Let $f_i: \Re^n \to \Re$ be locally Lipschitzian and directionally differentiable. If $x_i = 0$ and $f_i(x) < 0$, then G_i is differentiable at x if and only if f_i is differentiable at x. Moreover, $\nabla G_i(x) = -2\nabla f_i(x)$ if $x_i = 0$ and $f_i(x) < 0$.

Proof. Since $x_i = 0$ and $f_i(x) < 0$, by (6), we have $G'_i(x;d) = -2f'_i(x;d)$. Thus, the function $G'(x;\cdot)$ is linear if and only if so is $f'_i(x;\cdot)$. Therefore, G_i is differentiable if and only if f_i is differentiable. When G is differentiable, it is easy to see that $\nabla G_i(x) = -2\nabla f_i(x)$.

Theorem 1. Let $f_i: \mathbb{R}^n \to \mathbb{R}$ be locally Lipschitzian and directionally differentiable. If $(x_i, f_i(x)) \neq 0$, then

$$\partial_B G_i(x) = \left(\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right) e_i + \left(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right) \partial_B f_i(x). \tag{8}$$

Proof. The proof is divided into three cases.

(I) Suppose $x_i \neq 0$. For a fixed x, the function $G'_i(x;\cdot)$ is linear if and only if so is $(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1)f'_i(x;\cdot)$ since the first part of the right hand side of

(6) is a linear function. Notice that $(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1) \neq 0$ because of $x_i \neq 0$.

Therefore, the function $(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1)f_i'(x;\cdot)$ is linear if and only if so is

 $f_i'(x;\cdot)$. We know that the function $f_i'(x;\cdot)$ for a fixed x is linear if and only if f_i is differentiable at x. Hence, G_i is differentiable at x if and only if f_i is differentiable at x. In other words, $D_{G_i} = D_{f_i}$. In the differentiable case, the gradient of G_i is given as in (7). By the definition of the B-differential, (7) and $D_{G_i} = D_{f_i}$, and noticing that $y_i \neq 0$ when y near x enough because of $x_i \neq 0$, we have that

$$\begin{split} \partial_B G_i(x) &= \{ \lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i} \} \\ &= \lim_{y \to x} \{ (\frac{y_i}{\sqrt{y_i^2 + f_i^2(y)}} - 1) e_i + (\frac{f_i(y)}{\sqrt{y_i^2 + f_i^2(y)}} - 1) \nabla f_i(y) \mid y \to x, y \in D_{f_i} \} \\ &= (\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1) e_i + (\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1) \{ \lim_{y \to x} \nabla f_i(y) \mid y \to x, y \in D_{f_i} \} \\ &= (\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1) e_i + (\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1) \partial_B f_i(x). \end{split}$$

(II) Suppose $x_i = 0$ and $f_i(x) > 0$. By the definition of the B-differential, we have

$$\partial_B G_i(x) \subset \{ \lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i}, y_i = 0 \}$$

$$\bigcup \{ \lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i}, y_i \neq 0 \}. \tag{9}$$

Noticing that $f_i(y) > 0$ when y near x enough because of the continuity of f_i , according to Lemma 1, it is obtained that

$$\{\lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i}, y_i = 0\} = \{-e_i\}.$$
 (10)

By the definition of the B-differential, (7) and $D_{G_i} = D_{f_i}$, and noticing that x = 0 and $y_i \neq 0$, we have

$$\{\lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i}, y_i \neq 0\}$$

$$= \{ \lim_{y \to x} (\frac{y_i}{\sqrt{y_i^2 + f_i^2(y)}} - 1) e_i + (\frac{f_i(y)}{\sqrt{y_i^2 + f_i^2(y)}} - 1) \nabla f_i(y) \mid y \to x, y \in D_{f_i}, y_i \neq 0 \}$$

$$=(\frac{x_i}{\sqrt{x_i^2+f_i^2(x)}}-1)e_i+(\frac{f_i(x)}{\sqrt{x_i^2+f_i^2(x)}}-1)\{\lim_{y\to x}\nabla f_i(y)\mid y\to x,y\in D_{f_i},y_i\neq 0\}$$

$$\subset (\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1)e_i + (\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1)\{\lim_{y \to x} \nabla f_i(y) \mid y \to x, y \in D_{f_i}\}\}$$

$$= \left(\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right)e_i + \left(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right)\partial_B f_i(x) = \{-e_i\} \text{ (since } x = 0).$$
(11)

Combing (9) with (10) and (11) yields $\partial_B G_i(x) = \{-e_i\}$. Notice that

$$\{-e_i\} = (\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1)e_i + (\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1)\partial_B f_i(x)$$

if $x_i = 0$. Hence, (8) holds if $x_i = 0$, $f_i(x) > 0$.

(III) Suppose $x_i = 0$ and $f_i(x) < 0$. Noticing that $f_i(y) < 0$ when y near x enough because of the continuity of f_i , according to Lemma 2, it is obtained that

$$\{\lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i}, y_i = 0\} = \{-2\nabla f_i(x)\}.$$
 (12)

Likewise to (11), it is obtained that

$$\{\lim_{y \to x} \nabla G_i(y) \mid y \to x, y \in D_{G_i}, y_i \neq 0\}$$

$$= \left(\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right) e_i + \left(\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1\right) \partial_B f_i(x)$$

$$= \left\{-2\nabla f_i(x)\right\} \text{ (since } x = 0\text{)}.$$
(13)

Combing (9) with (12) and (13) leads to $\partial_B G_i(x) = \{-2\nabla f_i(x)\}$. Evidently,

$$\{-2\nabla f_i(x)\} = (\frac{x_i}{\sqrt{x_i^2 + f_i^2(x)}} - 1)e_i + (\frac{f_i(x)}{\sqrt{x_i^2 + f_i^2(x)}} - 1)\partial_B f_i(x)$$

if $x_i = 0$. Therefore, (8) holds if $x_i = 0, f_i(x) < 0$. Thus, the proof of the theorem is completed.

In what follows, we discuss the Clarke generalized gradient of $G_i(x)$ at the point where $(x_i, f(x_i)) = 0$.

340 Yan Gao

Theorem 2. Let $f_i: \mathbb{R}^n \to \mathbb{R}$ be locally Lipschitzian and directionally differentiable. If $(x_i, f_i(x)) = 0$, then

$$\partial_{Cl}G_i(x) = \bigcup_{\xi^2 + \eta^2 = 1} co(\xi - 1)e_i + (\eta - 1)\partial_{Cl}f_i(x). \tag{14}$$

Proof. Let $f: \mathbb{R}^n \to \Re$ be locally Lipschzian. According to [1], the Clarke generalized gradient of f at x is expressed as the following

$$\partial_{Cl} f(x) = co\{\lim_{y \to x} \nabla f(y) \mid y \to x, y \in D_f, y \notin \Omega\},$$

where Ω is any set in \mathbb{R}^n whose measure is zero. Choosing $\Omega = \{y \in \mathbb{R}^n \mid y_i = 0\}$ and by deducing, it follows that

$$\begin{split} \partial_{Cl}G_{i}(x) &= co\{\lim_{y\to x} \nabla G_{i}(y) \mid y\to x, y\in D_{G_{i}}, y_{i}\neq 0\} \\ &= co\Big\{\lim_{y\to x} ((\frac{y_{i}}{\sqrt{y_{i}^{2}+f_{i}^{2}(y)}}-1)e_{i} + (\frac{f_{i}(y)}{\sqrt{y_{i}^{2}+f_{i}^{2}(y)}}-1)\nabla f_{i}(y)) \mid y\to x, y\in D_{f_{i}}, \\ &\qquad \qquad y_{i}\neq 0\Big\} \\ &\subset \bigcup_{\xi^{2}+\eta^{2}=1} co\{\lim_{y\to x} ((\eta-1)e_{i} + (\xi-1)\nabla f_{i}(y)) \mid y\to x, y\in D_{f_{i}}, y_{i}\neq 0\} \\ &= \bigcup_{\xi^{2}+\eta^{2}=1} (\xi-1)e_{i} + (\eta-1)\partial_{Cl}f_{i}(x). \end{split}$$

Thus, (14) holds. The proof of the theorem is completed.

4. An application to Newton methods

Based on Theorems 1 and 2, we can use the Newton method (4) to solve the equation (2). In this method, we need compute the subdifferential of each function $f_i(x)$. If $f_i(x)$, i = 1, ..., n are semismooth, we can get the suplinear convergence of Newton method.

REFERENCES

- F. H. Clarke, Yu. S. Ledyaev, et al, Nonsmooth Analysis and Control Theory, Springer-Verlag, New York, 1998.
- 2. A. Fischer, A special Newton-type optimization method, Optim. Vol. 24 (1992), 269-284.
- 3. A. Fischer, Solution of monotone complementarity problems with locally Lipschitzian functions, Math. Prog. Vol. **76** (1997), 513-523.
- A. Fischer, V. Jeyakumar, et al, Solution characterization and convergence anlysis of a descent algorithm for nonsmooth continuous complementarity problems, J. Optim. Theory Appli. Vol. 110 (2001), 493-513.
- Y. Gao, Newton method of solving Karush-Kuhn-Tucker systems for a constrained minimax problem, J. Inform. Optim. Sci. Vol. 28 (2007), 173-184.
- L. Qi, Convergence analysis of some algorithms for solving nonsmooth equations, Math. Oper. Res. Vol. 18(1993), 227-244.

- H. Jiang, Unconstrained minimization approaches to nonlinear complementarity problems,
 J. Global Optim. Vol. 9 (1996), 169-181.
- 8. D. Sun and J. Han, Newton and quasi-Newton methods for a class of nonsmooth equations and related problems, SIAM J. Optim. Vol. 7 (1997), 463-480.

Yan Gao received the Ph.D. degree from the Dalian University of Technology in 1996. Since 2001, he has been a Professor with the University of Shanghai for Science and Technology. Before 2000, he held teaching positions with Yanshan University and China University of Mining and Technology, respectively. His main research fields are nonsmooth analysis and optimization, hybrid control, differential inclusions and portfolio selection.

School of Management, University of Shanghai for Science and Technology, Shanghai 200093, China.

e-mail: gaoyan1962@263.net